
N = 1

1

  1 circle in asqquare

radius =   0.500000000000
ratio  =   2.000000000000

density  = 0.785398163397
contacts = 4
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N = 2
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  2 circles in a square

radius =   0.343145750508
ratio  =   4.121320343565

density  = 0.554879118757
contacts = 5
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N = 3
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3

  3 circles in a square

radius =   0.331288928562
ratio  =   5.228218205432

density  = 0.632128180990
contacts = 7
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N = 4
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  4 circles in a square

radius =   0.327671056155
ratio  =   6.103682221664

density  = 0.702724017943
contacts = 7
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N = 5
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  5 circles in a square

radius =   0.323308618074
ratio  =   6.916202824473

density  = 0.749814357379
contacts = 11
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N = 6
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  6 circles in a square

radius =   0.308826772086
ratio  =   7.931597789365

density  = 0.734084140259
contacts = 7
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N = 7
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  7 circles in a square

radius =   0.305710487848
ratio  =   8.654434231822

density  = 0.761288270074
contacts = 15
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N = 8
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  8 circles in a square

radius =   0.302700786604
ratio  =   9.343970184163

density  = 0.782354522082
contacts = 13
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N = 9
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  9 circles in a square

radius =   0.300483166159
ratio  =   9.983920358519

density  = 0.802450477978
contacts = 17

 E.SPECHT
07-MAY-2013

N = 10
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 10 circles in a square

radius =   0.297724173461
ratio  =  10.621501181454

density  = 0.815629140574
contacts = 15
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N = 11
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 11 circles in a square

radius =   0.296004701493
ratio  =  11.204635513178

density  = 0.831259066012
contacts = 17
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N = 12
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 12 circles in a square

radius =   0.289837742478
ratio  =  11.951865155685

density  = 0.818975689655
contacts = 25
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